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1<i<1-10000 f4(P)=0cc000000000000P€SuppD 0000
P;eSuppD 000 ordp fj =—m; 0000 g; € L(D) D000Q; = ®p(F;)
0000000Q,el,00000000000h;=f;/g;,000000FP; 000
0 ®p=(h,.,k)DOODONU;, 000000k =1/g; 00 Q; 0 m; 00O
D000000X,/X;00 Q;0 m; 000000000000®H,=D000
0oooooo

O0O0OP-'0000000 H:aiXq+-+aX,=00000h= (a1 X1+ +
@X,)/X, 00000085 H = &3 Ho+div(ho®p) 00000 0®%H ~ &% Hy = D
O00®3H e|D|00ODOO

000D 0 |[D|000000000D =D+div(h) 0000 he L(D)ODOO
O00L(D)0OO fi,..., 40 £4=10000000000000

(3.4)

. (a1 Xa+ -+ aX
h:a1f1+"'+alfl:‘1)p( 141 < l l)

oooodod0emXi+--+X,=000000000 HOOODODOD =9LH
goodg

OO0P-'00000 HOOOOD 'NHOD I'0 HOOOOOOOO (0O
00)000000000000000d=#(U'NH)ODDOODOOJdOOO I'O
ooooooep:C—Iro0o0oo0oooooooogey,H=P +---+P,00000
O000degD =deg®p, H=d 0000 0

00 3.5.16a. COOO0ODOOOOODDO CcOOODOOODOODOOOODO
0000000000000 000000000000 (x)00U00O0D0OD0OO0O0D
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(x) COO0OD0OD 20 P,Q(P=QO0O0O0O0O0)D0O0O0OR(D-P-Q)=
R(D)—2000000

00 (x)00000000P #P,eCO000LMD-P—P,) S L(D-P)CL
(D)D0O0O0000OP, €cSuppD 000000000 f€L(D)—-L(D—-P,)00
03515000 (2)00000

fELD-P)-LID-P —-P)00000f(P)/f(R)=000000000
O00®p(P)#®p(P)0000®p:C—P-1000000OO0

op 0000 I'=0p(C)000000000¢:C—-TO000000PcCO
D00Q=¢(P)el 0000

0000000 ¢5:0rg —Ocp00000e00000000F,9g€0r0
000 fop=gopOOD f=¢g0000¢:,0000000

mp, mo 0000 Ocp,Oro 00000000000

COO0000000mp/mi 2CO000g € L(D)-L(D—-P), g2 € L
(D-P)-L(D—-2P)0000g=gs/g 00000gemp-—m% 000000
0000¢gO00000 mp/m20000000mp=g-Ocp+m%0000000
000000mp=(9)=g-Ocp0000

O0000g € L(D)D 34 000000000000 he Rat(I)D0ODO
g=hop=¢*(h)00000KQ)=h(p(P)=g(P)=00000hemg COrg
0000000005 COcp00000000000mp = (¢*(h)) Cp*mg =
moOcp 000000 25150000000000000, 000 Ore-0000
O0000O¢p =mp+C CmgOc,p+0Oro00000Ocp =meO0cp+0Org
0000000 Ore-0000000000000000O¢,p =¢50roe000
O00000000e* 000000000 000000000

000DpO00000000000000000000000000000000
00¢p:C—IN(cP-HODOOooooooOo

¢p(P)00DDOD P!O00D0D00 1000000000000 A, 00000
0000000000000 O0®%(k/X;)€e L(D)—L(D—-P)0000O

P#AQUOOD000®p(P)DO00 p(Q)DO0000 P1OO0OD0DO 100
0000000000 hh D000OP=QOD0O000AR 0 &p(P)0DOODOO
¢p(P)0 I'0DD0DDO0D0DDDODDDDDODDO0DO0ON0O®),(he/X;) €L
(D-P)-LID-P-Q)00000000AD-P-Q)<h(D)-20000
R(D-P—-Q)=h(D—-P)—12h%D)-20000r(D—-P—-Q)=hr"D)-2
oooo O
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0 3.5.17. CO000O0O0O0O0OO0ODO COOOOOO0OOOOOOdegD =2¢9(C)+1
gooopoooooooooooon

00.¢9g=¢(C)0000D' =DO00 D'=D—PO00 D'=D—-P—-Q0O
000deg(Ke —D')<(29—-2)— (29— 1) <00000LKe—D')=00000
00000000000000RY(D)=degD'+1—¢(C)00000000000
0 (x)00000 pOO0OO0OOOOOOOOO0 0

0000CO ¢g(C)=0000000000 PeCOOODOODOOODOO
D=PO000000O0ODOOOORY(P)=20000000@,0000 PPOO
¢p:C—-P' 000000000 D=2P000000000000RY(2P)=300
000, 0000 P200%p:C —P20000000000O0deg2P =20000
00 35.15b 00 ®p(C)0 P200 2000000000000 0®3p(C):C — P3
0000000 3000000000

e OO pl31,000 p.133. 00 3.61000

0000000000000 0

oooo)

00 3.6.1b. 0000000 CO0O0O0000000000000000K ~0
000000000

00. CO00000000000000000000dimeHY(C, Oc(Ke)) =
dime HY(C, O¢) = ¢g(C) =1 000000000+ fe L(Ke)D0OOOOD =
Ko +div(f) 200000degD =deg Ko =29(C)—2=0000 D=00000
Ke~D=00000

O00Ke~0000029(C)—2=degKe=00000C000000000

a

e 0O pl31,000 p.133. 0O 36200000000 200
0000000000000 0000000000
O0:1,f,¢0 LBBP)0OO0OOODO

O:f,¢,10 LBBP)0O0OOOODO

e 00O pl32,000 p.134. 200

)2_ajx2_a2a4 ai
4 2 4

a a
D=ﬁ+@w+my=@+§w+f



62

204 ai

2 2
D:y2+a2zy+a4y:(y+%z+%) —(1—2397 5 LT

00 pl32, 000 p.134. 600
O: 2} 4+ b12? + bowy + b3 = (11 — a1)(z1 — a2) (71 — az)

O: 1‘? + ble + boxy + b3 = (1‘1 — 041)(]31 — 042)(331 — 013)

e 0O pl32, 000 p.134. 000 300
0: eGL(2,C)O0
O0: eGL(2,C)00

e 00 pl32, 000 p.134. 00O 500 (00O 3.6.30 400)

00 p.133,000 p.135. 60 700
tpeAut(P) 0000 (1:2)0000000(3.8)00
tpeAut(P) 0000 (1:2) 00000y 000000000(@38)00

O O

00 pl33, 000 p.135. 00 3.640000000 50
00000000000000000000000000

O00.v:Ex— Exy000000P=(0:1:0)€E,CP? Q=v4(P)eEyD
00000 2’ €L(2Q)-CO ¢ € L(3Q) - L(2Q)0000OEy O

y?=a'(a = 1)z’ = \) (3.11)

0000000000000000¢* € L(B3P) — L(2P), y*a’ € L(2P) — C O
ooo

00 pl34, 000 p.136. 0O 366000 (3.13) O

000000000000000000000000000000
_1
Y

1
_?7(

O: g3 A+ 1)(2M\ =51 +2)

O: g3 A+DH(A=2)(2A-1)

00 pl34, 000 p.136. (3.14) 00 20 300
uboboooooobood
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00: O00g3 —27¢3 #0 000000000 gy, 9300003140000
reC-ROOOOODO
(00)g0 g30000D0
1083 = (V295 — 2)*(2V/292 — 1)
0000000000000000000000g¢3-2743#0000000000
g2,930000(3.14) 0000 reC-ROODDDOOO0O0OOO0OOOOOO00O
0000000000000000000000000000000000000

goood
o0 pl34, 000 p.136. OO 3.6.70 200

D00000000000000000000000000000
3
. 93
: j(C/L,) = 172822
(C/L:) 95 — 2793
g3
g3 — 2793

O

0: j(C/L,) =12}

o0 pl35, 000 p.137. 00O 36100000 20 300
:7000000000O00DO000O00O0D0OO0
O:7r00000000000000DO0000O0

O

00 pl36. 00O 3.6.100000 500 (OOQOooOOOO)
: 0000000 2224000dimp(GxG)<dimGOO0O0O
: 0000000 269000dime(GxG)<SdmGUOOO0

O O

0od p.137. 00 3.6.140 100 (DDDDDDDDD)
O: eq,..., €2, € C2* O
O: eg,...,e0, €C™ 0O

00 pl37, 000 p.139. 00O 3.6.140 300

2n 2n

: Lz@Z-ei: {ZmieiEC" aiEZ}
12:nl 12:”1

O: L:@Z-eiz{ZmieieC"‘ miEZ}
1=1 i=1

(ai — m;)

O

e 0 pl138, 000 p.140. OO 3.6.1500000000 40 300
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0:0eCr00000D0000 UD0O00D000000 UNnL={0}0000
O:(U)NL={0}0000

00 pl40,000 p.142. 36400 300000 3.6.170000 100 (200)
g: 0000000000004
g: 0000000000004

e 0O pld0, 000 p.142. 00 36170000 700
0: 000000
0: 00000 f*Q=P+P, 000000 35.1(2)000

00 pl41, 000 p.143. OO 36170000 130 1700
O0O0DO000bO0O0OD0O000O0b0O00o0ogo00foo=7of000mOoad
DO—>H—>GL>GO—>O[|DDDDD]:JDDDDDDDDDDDDDDDDDDDD

[Dooooo]

00 70 (o) 000000000 foo=¢(e)ofO0000c(0O)=0000
o(0) € Aut(P!, 00) 00O DO

1C—CO uz,y)=(r,~y) 00000000 ((000D0OOO000DOO0)
00 O0H = {ide, t} =2 2Z/2Z (HC G)000D000 0y(o) =ide D00 o€ HO
000000000Gy =¢(G) C Awt(Pl,00) 00000000000 0—H—G
2, Gy— 0000000

e 00 pl41, 000 p.143. 00 361700000000

O: (3)4(C)#£0,172800000Gy ={idm} 00G=27/220000

O: 3)4(C)#0,1728 0000000 36300000000G, = {idp} OO
G=17/220000

e 00 pl42,000 p.144. 0000000000000 0000O0OO0O
000000000000.0000000 10000000000
[0oo0oOo)
00D000000000000000000000f,,...,f,0 CO000000

O00AD ¢00000000 Rat(C) 00000000 (000O0D0OCOOO

0000000000000000)0

e U0 pl42, 000 p.144. 00O 3.7.30 800
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n
3 /— .. .
D.wi—g CijWj
j=1
g
. /— .. .
D.wi—g CijWj
J=1

e 00 pl45, 000 p.147. OO 3.7.7

0o 37700000000 00O0DO000O0000O0O00O0O00O0000000O0
goooooo

[0ooooo]

o0 3%77a. CO ¢g(C)z2000000000000000000000
0:C > P' O0degyp =200000000000000CO000000 (hyper
elliptic curve) 0 O OO

P00 1 0000000000000 UOO0O0OU=CO0000UO0DOOOO0
Ry =C[X]OUOUOUOORy O RatCOUOOUUODOD RwUOOUORy DODOOUD
OcCcoOoooo0ooo0 wioooooooooooooooooO Ry c Rw O
oooOooooo w—-U00 o0 WihOOoooooooooo 353000000
0000000 yeRw 000 Ry = Ryly] 000 D0RatC = (RatPl)[y) 000D
RatC'0 RatP! = C(X)0 200000000000 yOOOOOOOy?€ Ry OO
D0000O0AX) =42 € Ry =C[X] 0000000 0Ry = C[X,Y]/(Y2-h(X))
o0o0oDOoowao c?200 Y2:h(X)|:]DDDDDDDDDDDDDDDD@D
O (r,y) eWcCC0O zeU=CO00000000000

(X,Y)=(X,-Y)00O0O00000 W —-WOOOO000O000oo0o
C—-CO0000000000wor=ide 0000D0DO0O0O0DOOOO.000
0000000 P£QeC0000uP)=Q < ¢(P)=¢(@Q)O00000000
0 :C—-CO0O000000000 (involution) 00 OO

e 00 pld7, 000 p.149. 0O 3.7.100000 (2)

00 377000000000000037102)00000000000000
oooo

[ooooo)

(2) W,UOOODODO Ry, Ry =C[X] 000000 377200000000
Rw =C[X,Y]/(Y?—h(X))0OOD0O0¢*Q; =2P, 000000000 —y(P) =
Cy(P) = y((P)) =y(P) 0000y(P) =0, h(e;) =00000000000A(x)
0 ho(z)=(x—a1) - (r—a)0000000000y(P)=000000 PeC
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0O P)=PO0O00000O0O0OO0OO0 9P)£00000Q ¢{Q1,...,Q,}0
00 h(Q)#0000000,R 00000000 h(z)d (z—a)? 000000
000000000y =che(z) (c€C)00O000y0O 1/4/c000 ¢c=1000
o000

Rw =Ryly) =CIX,Y]/(Y? - (X —a1)(X —a2) - (X —a,))

ooobooogo

00 pld7, 000 p.149. OO 3.7.10(3) 0000 400
: 000¢*(1/zm) ¢ Lo(me*Q) 0000
: 000¢*(1/2™ ) ¢ Le(mp*@Q) 0000

O O

00 pl48, 000 p.150. 00 3.7.10(6) 000 O
00000000000000000000000000000
(6) ' =P (C) c P! O00000000000¢:C—P' 0 g :C—1T
00000000000Q; =@k, (P) el 000000 Q,..., Qg1 OODO
P! 00000 HOOOOOO351500000000Ke ~ @y (Hlr) =
Q1+ -+ Qy-1)=2P+---+2P,_ 0000Kc=2(PL+---+ Py,_1) 00O
000

0000000 f:C—-CO0000000 PRO0O0O f(R) =P 00000
000f*Ke =KeOODOOOOOOOO® k.| = Pjpeke| = Preiof 0000
o(f(P))=¢(P)0000000000f0 P'=¢(C)000000000000
0000000 P'O0600000 Q,..., Q0000000000000
000000000 f*:Rat(C) — Rat(C) 00000 Aut(Rat(C)/Rat(P')) O O
00f00000ide 0000000000 .0000 O

00 pl49, 000 p.151. 00 3.7.11 00000000 200
;0000 f:L(2P)—L(P)0DDODOOOO
: 0000 feL2P)-L(P)000O0DOD0

O O

00 p.149. 00 3.7.13. (0000D0O0D000)

0:C000000000000g(C)=4000 4, (C)CcPP000 20000
300000000000000600000000g(C)=5000 ®x,((C) C P*
0000300 200000000000000080000000000000
g(C)Z600000%k,(C)CcP"'0 ¢—20000000000000000
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ooobooobobooonbo

0: C000000000000¢g(C)=4000 ®k,(C)cPPO000 2000
0300000000000000 60000000000000g(C)25000
00®k,(C)CP"'0 ¢g—200000000000000000000000
ooooo

000000: ¢(C)=5000000 C¢O,dimcL(P+Q+R)=10000
(000D0O0000000000)30 P,Q, ReCO000000 trigonal 000
000000030 P,Q RO0OD0,dimcL(P+Q+R)=1000 300 P4
00000000000000000000000000g¢(C)=50000000
0 COD0DCO0D0000D0 trigonal 000000 O®k,,((C) CP*O0O0 30
020000000000000008000000000000

e 00 pl50, 000 p.152. 00 3.7.15000000
00 37150000000000000000000000

[oooooo)

©(C)0 100000CO000000000¢:C—»CO0000000 3540
degp=10000 251800 000000000

O

o0 pld0, 000 p.152. 00O 3.7.1560000 200

0: hQ) = £(Q) — f(p(Q))
0: h(Q) = f(Q) — fl¥™1(Q))

OO0 pl5l, 000 p.153. 00O 3.718000 (0ODO0O)00 200
D:Sl—D1D SQ—DQDD
D:Sl—D1D SQ—DQD

00 p.d5l. 00O 3.7.19. (0ODODOOOOOO)
g: 00 3.7.19
g: 00 3.7.19

00 pl52, 000 p.154. 0000 30000
0O0000000000000

[oooo]

0000000000000000 [Ha|]0OOOODOO00000000000
0000000000 00000[Ha 00000000D000000000000
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0000000000000 0O0HAOUOOOD IOODO 461000000 4.10.1
000000000000 0000000D0O000O00D0D (x)0oDOo0o0ooo

00 3.721. X0OUOOOOOUOODOXOOO (DODODOODUOODOOOO)oO
00000000000 000000d0 (x)O00oooooooo
(x) 00D00D0D00YOOODOODOO mXxY—YOOOOOOOO

00.(000)X000000000000000000000000X 000
0000000 X2X00X0 X00000000000000000000
0000000000X0O XO000OO0O0OO X=X00000O0oooo0oXO
X0D0OO00oooooDOmXxX —X0O000O

A:{(x,a:)eXxX}xeX}

000000AD XxX000O00000O0r(4A)=XCcXO0O000000000
O00~00000000(+)0000000
(000)XO0000000000000000000000FCcXxY 0000
000000000000Y 00000000000 «(F)0000000000
00000000000000000X(F)0 YOOOOOOOOOOOO00O00O
0000000000000000000000000000000000 YOO
00000 WoOOOx(F)NnWO WOOOOOOOOO0O0000000wW OO
0000000000000000000000 WOOO0O0000000000
007 '(W)=XxWOO0O0O000O000OO000000«~Y(W)nFOOOOOO
0000000000000x(x Y (W)NF)=FNW OOOOODOOO0O0OO
0000000000000 O

0000000000000 0O00O[Ha)OOOOOO (proper morphism) 000
gogdoododooobbooobbobbbobboboooooboooobo
gooooboog

00 3.7.22. X,YOOOOOODf:X—-Y0OOOOOOOOOO0O0O0O000O
000 (1), (2)0000000
(1) 00000000 Z200O00 fxidpXxZ—YxZ0O000O0O0O0O
(Ha)DDODDODOODOO)O
(2) /X —-YDOOOOODODDOOOO0O0O0 QeYOOOO f~3Q)00000
0000000000000 (0000000000000)0
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00.(1)= (2)0000000000000000000000

(2) = (1) [Ha)0DO OO0 48(f)0000000000YO0O0DOO000OO
00000000000000000

Y 0OODODOOOOO0OO0O0O0 KOOOO f4(XK)00000000000
0000000000000000000000000000O0O00000
{Ux|Ae A0 fYXK) 00000000000 DD0O000 Qe KO
0000/ %Q)D0000D00D00000000000 AgqCc ADDOOOO

i @c |JunoooO0F,=X- |J U»00000F,0 X00O0OOOO
AEAQ AEAQ

D00D00f0000000 f(Fe)D YOOOODDOOOOO{Y — f(Fo) |
QeK})0D KODOOODOOODOKODOOOODODODOOOOOOOO0O Q...

Qe K0DD00 Kc|JV-f(Fp)ooooooooof ' (x)clJ J Ui
i=1 i=1A€Q;

0000/ YK)0DOOO0O0DO0O000000 0

O0000000000000000 (separated morphism) 000000000
gobobooobobobobooboobobooboboooooooobbobbooboboon
gooboooobbooooobooooooboooo

X, YooooooofXxX—-YyYQOoOoooooooood

XXyXZ{(SL‘l,ZL'Q)EXXX|f(x1):f(z2)}

gooboboobooboboooboooobob e8s8nnoononOod

00 38.7.23. X, YOOooDooOfX —-YOOOOOOODOOOOOOO
ffX-YDOOODODOOOODOOOOODODO e X —Xxy XOODOOOODD
oogd

00. [Ha] 0O 00 4.6(e)0000000000Y =SpecCOO000000O
0000000000000 «X —XxX00000000000000000
0000.000000000000000000000000000000000
0000000000000000000000,000000000000000
00000XO0O00000000000000000000000000000X
0000000000000000000000000000000000 0

0000000 KOO (D0)oooooooOoo00 Koo (boooo)o
oooo0opoOoooo0ooooOo0O0O0ooooooOooooooD coooo
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00000 XO00OOOOOOX0O COo0O0000000X0000000000
{Uh,..,U,}00000 U; 0000 R, =0x(U;) 0 COOOD0OO0OOOOOO
00X0O COO000000 R O0000000000000000U;NU; 0 U;O
000000000000000CO000000000000000000000
000000000000 00000000000000 CO0000000000
00000000000000000000000000000000000000
Ha) 0O IO0O000000D00C00O00O0O[H OO MO0000000000
000000000000000000000000000000
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ogo

e 00 pl57, 000 p.159. 10 300
0:000000 o:{0,1,...,7} —{0,1,...,r} 0000c 0000 sign(e) 00
oo0oogdi,,..t-€ 10000

fio(0)7io(1)7"'7i0(7') = Sign(g)fioyilamﬂr € F(U)

0:0000C" (W, F) =P FUx)OOD00000 0:{0, L..., 7} — {0, 1,...,
Kel,
rY0000c 0000 sign(e) 00000000K = (ig, i1,...,4,) €3, 0000

fiU(O)aiU(l)v“'via('r') = Sign(a)fioﬂh---,h € HT(UK)

e OO pl58, 000 p.160. OO 4.1.30 300
000000 33.13)0000000000000000000

0: (0 W,;0 U, 00000000)0O0OOOO
O: (00000 W, 0000000000 0U,0000 D(f;) 0000000 Uy
O00oOoooOoOo)ooooo

e 00 p.159. 00 4140000 10300 (000000000)
0:r0000000000000r>3000r—-100000000000000
X0O0O00O R=0x(X)000U; =D(f) (f; € R)DOOOV(f)N---NV(f) =
$000

0: X00OO0OO R=Ox(X)0000U; =D(g1)U---UD(gx) (9; € R) 0000

000000000000 U;=D(f;) (fe R 000000000O0OOOODO

O0r0000000000000-23000r,-100000000000000
(fi,. fr)=RODDODO

oOooooooo (A,.. f)=RO0D0MUOCOOCOOOCOOOOOOOOOO
oood

00 p.159. 00 4140000 100 1100 (D0DOUOOooooOoO)

d: 00oad U{:UiﬂW[IDDDD

O: 000 U{ZUiﬂWZD(fi(frg,«—l))[ll:ll:ll:ll:l
e 10 pl60, 00O p.162. OO 4160000 1000
0. (hK)Ke£T71 ECT_I(U)
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0: (hK)KELT,l € Cril(W)

e U0 pl60, 000 p.162. OO 4160000 1500
0: hl,U’ :hO,U’+hU’ oooo
O: hl,U’ :hO,U’*hU/ oooo

e U0 pl60DO p.161, 000 p.163. OO 4160000 170 2000
O: K={l<ix<---<i,}€J,, 00000

gK=h07U’+iL0,U/ :h17U/+i117U/ GF(WOOU’)QH’(WlﬂU’):3’(U10U’)
goood
O: K={i1<iy<---<4.4€93,,00000¢«=100000

gK=h07U/ —iZ07U/ =h17U/ _ill,U’ Egj(WoﬂU/)ﬂgr(WlﬂU/)Zgr(U1ﬁU,)
O00000dos 220000 gk =hxg 00000

e 0 pl6l1, 000 p.163. OO 4160000 210000
goboobooooooboooobobooooboooooOoboo

ge () C™=' (W) 5 h CT-Y(W)5h
@] Lai L&z
fezru) 5 BOW)so(f)  fez'W) £ BI(W)sg
7 00000000000000 7 00000000000000

00 pl6l,700. 000 p.163. 00 4160000 (DOOOO 30 200

O: C"OW) 0 £=(fl)res, eCT(W) 00000000 0g=d"1(h)+ ¢ (f) O
O: C™=Y (W) O f=(fr)res, € Z°(W)000000000g=d}; " (h)+¢"(F) O
e 00 pl61,000 p.163. 00 4160000 (IH0OOO 800

0: 0000000g, =hg, —hy, 00000

0: 0000000g,=hy, —hy, 00000

e 00 pl62, 000 pl64. 00 4160000 (IV)0ODO0O000D
O:g=d"'(h)+¢"(f)

O: g=dy ' (h)+¢"(f)

OO0 pl62, 000 p.164. OO 41600000000 120 1100.
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hny, —hr, = hNk+l_{l} - th+1_{0} = 9Nita
r+1
DDDDDDDDDgEZT(W)DDDDZgNkZODDDD
k=0
O:
hr, —hwy, = hNk+1_{0} - hNk+1—{1} = YNt

r+1
000000000geZ (W)0000» (—1)fgy, =00000

o0 pl62, 000 p.164. 00 41600000000 800O.

O: = Z(_]‘)ngk+1
k=1
O: =— Z(—l)ngk+1
k=1

00 p.163. 00 4190000 500 (DODOOOODODO)
:000000001Lk<IS0000
:000000001Lk<!i<40000

O O

00 p.163. 000 p.165. 00 4.1.110 300
Hr (U, F) = H" (W, F)
Hr (U, F) = H' (W, F)

O O

00 pl66, 000 p.168. 00O 4.1.150000000(3) 0000 500
O0:00 yO0O0 @o(x)=y0O
0:00 yOOO ga(a) = g(y) O

00 pl66, 000 p.168. 00 41.150000000(3) 0000 90 1000
0z 7mp(2) = mp (2’ + f(1)) = wo(e) + mp(f(21)) = 7o (2’)
(2

O: 7mp(x) =mp (2’ + f(a1)) = mo (@) + 7 (f(21)) = mp(2')

00 pl6s, 000 p.170. OO 4.1.18
00411800000 41.18a 000000000000 41.180000000
0D0000000000000000

[Coooooj



74

oobooooooooobog e210000000Db0O0ODOOOOO0OOOOO
oooooooooboooobooobdbe21 0000000000000 0O0OO
goboo

00 4.1.18a. X,Y, LM, ¢oM->NODOODODOODOODODLO MOOO
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OD0000e =ordg, ¢ 0000 ¢R;=2%R, 0000000000000
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000O0dimeR'/g'R' =) ordg, ¢’ 0000 (5.2)00000
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O

00 p218, 000 p.220. 100 OO 511100000000
:n>0000 ne*POD0ODOOODOODODODOD
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[
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O

00 p2180 219, 000 p.2200 221. 00 5112000
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00000pp 0 OOOCOOOOOOOOOOCOOOOOOOOOODOOOOO
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FOO POOOODODOOOOOODOOOPO FO 2000000000000
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05113000 5.1. 12000000 000000O0DOO0OODODDOODODODOOOO
oo sl 3uodoooouod s113uonooooooa
(alsksl=ksl=}
00 5.1.13a. ODOOOOOOOOOOO
Ts,p = Homg(mp/mp, C), Trq = Home(mg/m3), C),
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obobOoOoobooboboooooobooooon

d
0— Trp — Tsp =5 Tro

e 00O p219,000 p.221. OO 51140000 700
O: pD000000000000000OO0
O: D00o0ooooooooooooog

e OO p220,000 p.222. OO 5.1.140000 160 1700
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00 5.25a. VO dOOOODOOOODOO0OO0OmV -VOO PevVOOO
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U0 mpOO00O0OOEOOCOODOOOO
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O O
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005260000 400000000000000000000000000
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=V -VO000000vVOoOoOoDoOoooooooo
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{(Xo: X Ty T) € PP x PP | XiTy = XGT, (LS Vi< Vj<n)}

000000000000 26500000000000000000VOO0O0
oobooooooboobooooobooooooooooboooo 0

e 00O p225, 000 p.227. OO 526000

jooogoooobo 3000 9. 0000000000
gobendn
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00 53200000000000000000000000

[ooooo)

00000 1000000000000000000000000000000
000 20000000000000000000000000 (00]0 6.5.11,
65120000000000)000000000000000000000000
00000000000000000030000000000000000000
000000000000000000000000

00000000000000000000000000000000000000

00 5.3.1b. ROOODODOOOOOMOOOOO ROOOIO RODOOODO
0IM#MO0000000
(1) 000000 »0 M-00000000000000000000000
i<nD000 Exth(R/I, M)=000000000000
(2) 000 i<nD0000 Exth(R/I, M)=00000000000r<n0
000y, 9y, 2, €10 M-000000000 @y, .., 2p €1 002,
22,2, 0 M-00000000000000000

000 [0D0)00 166000000,000 [00)J00 7590000000

00 5.3.1c. ROODOOMDO ROODOzeMOODODO
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000000 0ann(z) 0 ROODOOOO0O0O0O0O0O00 Dann(z)0 M OODOOO
00OMOOD00000000 Ass(M)O0O Assg(M)0 000

00 5.3.1d. ROOODOODODOID ROOODOOOOI=g1Nn---Ng, 000
gooooooooobooooo

Ass(R/T) = {Var,--., van}

goobogo

00. @€ Ass(R/1) 0000
X=(g2N--Ngy)—qn 00000X #¢0000000 ¢ RO R/IOOD
000 200000000000 {am(@) |2€X} 0000000000000
0000 p=ann(z;)0000abep, bgp00000bxy ¢1,bx1 €g2N---Nay
00 b¢q 000000000 ann(bz;) =ann(z7) 00000004z =00
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xym € q; 0000y el 00000000y™ € ann(zy) 000 Dann(zy) O
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¢ Cp00000000000000000 gCp00 @S/ Sp0000
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(R;) ROOODODOOD 1000000 pO0000R, 0000000000
(S) ROODODDOO 200000000 pO0O0000depthR, >20000
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0000000a bep000000000000b€ann(z)0000bz € aR O
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0000 b eq; 00000000 eeROOO0O00O000b00 R/aR-O000D
000000000
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O0000(R,m)000000p=mO0000000000RO000 acpO0000
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000a b00000 depthR=20000

(2)0000000.
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O00p=p =/ 0000000htp=100000000 htp=220000R,
0000 htpR, 2200000000 R=R, 00000p0000 ROOOD
0000000000 000000000
n=10000000000nr2200000000aRS q2N --Ng, 00
OOce (g2n--Ngy) —q 000000J={z€R|cxear} 000000
ccequU000ceqgen---Nq, 0000cxeqN---Ng,=aROOO0OOO0ONO
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reJO0000cxecaRCq00c¢ q 000000 keNODO 2Feq, 0000
0000z € /i =p000000000JCpO0000000cq; CquN---Ngy =R
O000gqcJO00000O0VJ=pO0000

ryeJ,y¢ JOOOOOeyeq,ey¢ 0 000q 000000000000
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O000ed/a e ROODODODOOOOed-1€eRO0O0O01ep 000000000
O0DD00p0 ROODOODOOODODOOO(ed/a)p=RO0O0OO00DO000
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e 00 p227, 000 p229. 00 534000
00000000 f;€eRat(X)0000000000000@0O0000000
0000000000000000
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000fA(®P),.., fo(P)eCOOOO0OfP)ePr0000OOO0 POOOOOO
0000000 f(P)=c000+000000#f,.., f,0000 00000
00000 f..., 000 (;=1)0000f;(P)=0c000 ;0000000
000 £;000000000000000 fo(P),..., fo(P)eCOO000 000
f(P)=10000f(P)ePr00000000O0O0OO0OPO 00000000
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e 0D p2270 228,000 p2290 230. 0 5.3.3000

0533000000000 536000 538000000000000000
00000 (0)00000000000000000000000000000
53.140000000000
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00 5.3.6a. X,YOOOOOOOw:X —-YOOOOOOmP"xY —Y OO
00000000000 »n0000000 ZCP*xYOOOOO ¢:X—Z00
O0O0gp=7r0oy¢ 00000000000 (0)00000000000

00 5.3.6b. X, YOOOOOOODOODODODODOODODODO X —-YDOOO
gobao

O0. XCcPrOOODOXxYCcP'xYDOOOO
Z={(z,p(x) eXXY |z X} CP"xY

00 0¢(z)=(z, ¢(z)0 X »Z000000¢p=n0y 0000000000
oo 0

00 5.3.6c. X, YUOOOOOOOe:X—-YOOOOOOOOOp.Ox =0y
00000000000000000000 PeYDOOO o X(P)O0OODODODODO

00.0000000000000000000000000000000000
[Ha] O I DOD 11.3000000000000000000000000000
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O0oooooox(U)oUoo z;0 Z,000000000000DCOOOOOCOO
oboooooooooooo 0

00 5.3.7a. XOOOOOOODOOYDOODOODODDOey:X—-YOODOO
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0000000000000000000S/mpSO0000 Ry/mp-00000
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000 Rw CRy 000000000 fog =¢lw 000000 (p|y).00U) =
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00000000 QeYOOOD o Y(Q)0D00D0D0D0ODO0D0O0OOOOOOODOD
pOD0OOO0Oo0oooOan

e 00 p2280 230,000 p2300 232. 0 534000000
00 53900053100000000000000000000
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00 5.3.8b. $,70000000000¢:S—-7T0000000000000
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0O SO00000000p(S)cCO000e00000000000DO0O00OOO
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00 5.3.9. (0000, projection formula) S, 70000000000¢:S—1T
00000000000 D, D0 7000000000000
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T T
deg ¢ = [Rat(S) : Rat(T)] = Zai[Rat(Di) :Rat(D)] = Zai deg p;
i=1 i=1

0000mI - D, m:[; - D;,0000000000(D D"y =degn*D’|p,
(D; - ¢*D')g = degnt(¢:D'|p) 000 Op:D; — DOODOODODOODOO
ol - 0000000007 (e |p)=¢*(x*D|p)0000

I S,
Jl =
D, 2 D

gooooo 3.5.3000
deg oi*(7*D'|p) = (deg}) - degm*D’|p
good
deg ¢ = [Rat(I}) : Rat(I")] = [Rat(D;) : Rat(D)] = deg p;

gooo

(gD " D')s =Y ai(Di-*D')s =Y a;degn;(p; D'|p)
=1 =1

= Zai(deg ;) -degm*D’|p = (degp) - degm* D' |p

i=1
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gooooo O
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oooooopO TrTooooocCco soooooooooooDo
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0000000000¢(C)0 1000000(¢*D-C)s=00000
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00000000
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nO0000000 wy 0000wy =7*wx 0 YOO nOOOOOODODOOOO
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mrwy = (Tpdsy + s1dxy) Ao A (Tn dSp—1 + Sp—1dzy,) Adzy,
:xﬁfldsl/\--'/\dsn_l A dxy,
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00 5.4.7. S, 7T0000000000D0D0:T —-SO0000000O0CO
OO0DO0o0oo0OooooooOdnDO PeSOOOODOPOODODOOOOOOOOOO
mX -SO00000000000 ¢v:T—-X000OO00Op=woy 0OOOO0OO
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O0. O PeSO o(P)0 1000000000000 TOOOOODODO
™1 (P)0 200000000000000000000¢Y(P)0O0ODOO0
mX—S0O PODO0O0ODOOOOODOOOOCOOOE=x"Y(P)cXDODOOODODO
00 ¢y=7ntop:T.---—X0O0OOOODOODODOOODOOOS—¢ Y(P)OODO
v 00000000000 0000000000000900000 QO ¢~ (P)
00D00000000QO ¢ 1(P)O000OO0DODOOOOODODOOONOOOQO
00 ¢ 1 (P)0DO00D0O0 CcOO000DO0OO0OQO CcODOODOODOODDOODDOO

(z1,7,) 00 POODODOO WOOOOODODOOODODOWOO #;=00
0000000000000 ;0000000000000 ;0 000000
00000000 150 o Y(W)0O0O0OO0OO000y(([) = 0000000000
D000Q¢ N 000000000000O0000 QUOODD UD UNIy =6
O0D0O0OUD COO0 o (P)O000ODOOOODDODOODOODOe Y (W)ODO
0 ¢*2,=00000000000000000000 (¢ H(P)UL) N~ (W)
O00000U 000 2 000000 CNUOOOOUFD O7 0000
p*r1=ay™ («0000)00000000¢t000000DOOO0OO0 UDODODOO
0000000 O(U)00000(,y) 0 UDOD0D0O0000UDOODDO CO
000000 y=000¢t0 CNUDOOOOOODOOOOOODOOODODOOD
O 00000 x1+622(B€C)0000B00000000 mOO000000O
00000000000000000 200000000000 00000000
ROOODO¢*zs =y™h(t,y) (R0 yODOOOO0)00000O

O00000000D00000ENW #¢000000 XO00O0ODOOOOO woOo
00000 (b,y) 00002 =y, m*ze =t;4» 000000000000000
©*:Rat(S) — Rat(T), 7*: Rat(S) — Rat(X) 000 O Rat(T) = Rat(S) = Rat(X)
000000y=2,=y 000000000000000C0

T2 tiyn

h(t,y):y—m:y—m

00000000%* =a th(t,y) 0000y, =y O "t =a th(t,y) O U
Ooooooo ' evooog

(@) = (1(Q), a(@)'M(@Q")) € X
0000y 0 QOO000000000000QO00000000000000
0000000000000CNUOO00 o th(t,y) 000000000 (C)
0 1000000000000000 (CNU)0 EDD0O0OODOOODOOO
00LNC+#¢0000000 CODO0O0CO0 o 'h(t,y) 00000000

= Oétl
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(I,NCO 0000000D0000000 0000)000¢(CNU)0 EOOO
00000000000000

00000 Y(P)00000000D000O0OO0OO0O0DO000 ACS,BCT
0000 ¢:(S—A)—(X-B)00D00000000000000¢:S—X00
ooooooo O

I A 0 5 9
U0 m=10000000000

00 5.4.7b. S, 700000000007 —S00 PeSOO0000O0
000000000000000p(T)=p(S)+10000

00.FE=f"4P)00000000 5.3.13b 00 Pic(T) = Pic(S)®ZE OO0
000p(T)<p(S)+10000000p(T)=p(S)00000E=fD (D000

0)0000 SO0 ROO0 DOOODOOOSOO0OO0O0 D'O0OODO
(D-D")s =(E- f*D')r = (f(E)-D')r =0

00000O0D =000000000F=000000000 (E?)r=-1000
0000000p(T)=p(S)+10000 O

e 00 p239, 000 p241. O 548000

05480000000000000000000

[Dooooo)

00.¢0000000000000000000 547000000000000
000 m:8 — Sy =S00000p:T %8, ™ 800000007 2S;000
000S000000000000000000p(T) 2 p(S;) = p(Si—1)+1=p(S)+i
000000000 p(T)-p(S) 0000007 =S, 0000 O

e 00 p2390 240,000 p241 0 242. 00O 541000000

00 541000000000000000000000000000000000OO
Dooooo]

00 5.4.10. (0000000000000 O0O0OO, Enriques-Castelnuovo) S O
00000000O0CCcSO Cc=Pl00 (CHs=-1000000000000
0000000 yooooooo f2:S—-YOoOoOooof(C)o 1oo00Uu=5-C
oooo flo:U—- (Y -fC)oooooooooooof:S—-Y Qoo f(C)O
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oooob ygooooooooooooooboopooboooo coo100000
(exceptioal curve of the first kind) 00 0 (-1)-00000000000 f:S—=Y
0O CO000D00000 (contraction) 00 OO

00. A0 SOOD0DO0O0O0D0O0O000O0O0O0m=(A-C)g,L=A+mC 00
0000 541000HYS, Og(A)=000000000
O0000<k<mO00000000 AkOODOHYS, Os(A+kC) =000
00O0Oo00O0O0o0

D00<k<mOODOHYS, Os(A+kC)=00000000000000

0— O0s(A+kC) — Os(A+ (E+1)C) — Oc(A+ (E+1)C) — 0
00000C=P 0 deg(A+ (k+1)0)|[c =m—k—-120000HYC, Oc(A+
(k+1)C))=000000000000000

0=H'(S, Os(A+kC)) — H' (S, Os(A+ (k+1)C))
— HY(C, Oc(A+ (k+1)C)) =0
O0O0HYS, Os(A+ (k+1)0))=00000
ODO0O00O0OHYS, 05(L-C))=00000000000000000
H°(S, Os(L)) — H°(C, Oc(L)) — H'(S, Os(L —C)) =0
0000000 Ls(L) - Le(L)0000000000000Bs|Al=¢0000
OO0Bs|L|=Bs|[A+mC|cCOOO0O0OC=P 00P 000000000000
D000Ll0000000000000HYC, Oc(A+mC))= H(C, Oc) =C
000000 4242a(2)00 Bs|L|=¢ 0000, 0000000000000
0 4242a(1)000@,(C)0 100000
Y=9,(8)000¢, 0000000 f:8—-YOOOOf(C)=,(C)D 10
0000000U=S-C000 Ligy=Alg00®,|y =®4p 0000ADDDO
000000000 fly=%®4p:U — f(U)00000O0OOO
YOOOOOOO0O000O00O000P=f£(C),9:0 Ox0000 CO0O00O00O
O0OmO Oy 00000 POOOOODOOOOOOO Oyp00000000 mp
0000000000000000 U>PO0OO0OAEI(f(U)DO CcOODO
00000hem(U)DD0000000D00000mWU) =3¢(f"1U)) = fIc(U)
00000000m=f3,000000000

mp/mp = f.(3c/I)(P) = (Ic/IE)(f~'(P)) = H(C, 3¢ /I2)
DDDDDDDJCZOS(—C)73%:OS(—2C’)DDDDDD
0— O0g(—2C) — Og(-C) — O¢(-C) — 0
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0000000096/92 20c(-C)00000000C =P 0000 Dy, Dy
O0000degD; =degD, 0000 O¢(D;) = Oc(Dy;) 00000 OdegCle =
(C?)s=-10000c(-C)=0Op(1) 0000000000

mp/m% = H(C, 9¢/9%) = HO (P, Op (1)) = C?

00000y, 00000000000 OCO0O0O0O0YOOOOOOOO
fS—-YOOOODOOODOODOOOOOO 548000000 0

00 p241, 000 p243. 00 5510 300

O : Sing(C) ¢ Supp Dy U Supp Do

O: SingC N Supp Dy = ¢ 00O Sing(C) N Supp Dy = ¢
e U0 p241, 000 p243. OO 55100000 300
O: degD|c=(D-C)g
O:degDlc=(D-C)s=(D1-C)s—(D2-C)s

e 00 p242. 0O 0O p244. OO 5520000 300
O: D=C;-Co, 00000

O: D~C;—Co000D00

e 00 p243, 000 p245. 00 5540 50 700
0:0000|D|=P(Lx(D)V) 000000000 ADDOODOODOOODOO
00000 VcLx(D)DOOOOOO0OO0O

0: 000000000000 VcLx(P)0OOOO0O00000000000
A=VV/CX =P(VV) C P(Lx(D)V)=|D| 000000000

00 p243, 000 p245. 00 5540 1000
2 oy (P) = (fr(P) -+ fu(P)) = P(VY)
2 v (P) = (fu(P): - fu(P)) € P(VY)

O O

00 p243, 000 p245. 00 5540 130 2100
0ooo0O0O0o0O0ooooo.

[Dooooo)

00 $0000000000 mC'—-CO0000000

7 HY(C, Oc(D)) — HY(C', Ocr (n* D))
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000 V C HY(C, Oc/(x*D)) 000000 Odime V = 2000 O0®y: C' — P(VY)
0000000000000 dyort:C--- = P(VY)OO®p.:C--- — P(Le(D)Y)
0000D|c 000000000000

00D0®p, 00000000000000000

BsV:={PeC|000 fevoooo f(P)=0}=¢

00000 DleU0OD0OO0OO0OOUOOOOUOUODOODDOUOO meNOODOODO
mD|c00000000000000D| 000000000000

e 0O p243, 000 p245. 00O 5550 100

0:S0000000000CO SO00000000000000
0:004380000000S0000000000CCcSO0000000000
ooooo

e 00 p244, 000 p246. 00 5560000 10 600
00556000010 6000000000000000000
[ooooo)

00. W =C—Sing(C), Wo=x"*(W)00O0ODO0OKe|w, = Kelw D000

00000000CO000 QOO00SO00000 QUO00000000 (z,

y)00QO (z,»)=(0,00000000000000C0000000 f(z,y) =0

0
oooofd IDDDDDDDDDDny:a—fDDDDDDD 43.8p 000
Y

Rese (dx/\dy) _dx

)
“ﬁd%wcz%fDDDK@+C=dNW@DDDDDKC:
Y

00000 0wg =
div(we) 0000
e OO p245, 000 p247. 0O 558000

000000MO0000000000000000
[D0DDD] PeSing(C)000 6p(C)>100000000000

00 p246, 000 p248. 0 5.5.100 100
:(0000D00000)00 CO
:(000000000)0000 CO

O O

00 p246, 000 p248. O 5.5.100000 300



O:=((Ks+0)-C)s = (C?)s +(C-Ks)
O:=((Ks+C)-C)s=(C"s+(C-Kg)s

00 p246, 000 p248. 0 55100000 700
O: —2=degKor < (Kg+C)-C)g £ -2
O: —2<p.(C)—2=degKer < ((Ks+C)-C)g £ -2

00 p247, 000 p249. 00 55120000 1500000
00 55120000000,=20000000000000000000000
r=200000000R0 mO000000 ROOOOPOOD SOO00DO
00000000 V00000000000 (z,y)0 POOODOOOOOOOO
f(z,y) 0 UODODD COO0000D000O00C'0000 ;000000000
0000 W;000x(W,;)0 U0000000000 ;€ ROODOOOOOOR
0000 f=g¢-9-h000000000AD0 ROOOOOOOOOOOODO

p: R = C[[X, Y))/(g192) — C[[X,Y])/(g1) ® C[[X ,Y]}/(g2)

$:C[[X, Y]/(g1) © C[[X ,Y])/(92) — C[[Th]] & C[[T]] = R’
0000 Odime Coker oy =dp(C)=1000000000Cokerp 00000
0000000CokereCOO000000000¢0000000g,¢.0 X,Y
0000 10000000X,YO0000 1000000 0100007, g0
10000 aX +bY ((a,b) #(0,0)000000000e#000000PO000
00000000000000000e=000000000000g =Y +y(X,
Y), g2 =bY + hy(X,Y) (hy, h, 00000 20000000 b#£0)00000
ClIX, Y]l/(9:) =C[[X] DDODOO(co+ a1 X, ca+e3X) € C[[X, Y]]/(g1) ®C[[X,
Y])/(¢) 0000000000000Ime 000000 (co+a1X, co+e:.X) 00
0000000000000 0dimeCokerp >200000000 0

e 00 p248, 000 p250. 0O 551200
0000000000000
oooo]
05.5.12b. COPPO0 30000000000000000000CO00
000 100000000000000000 10000000000000

00. CcOPPO030D00O0O00O0OHD PPO0O00OOOOODOOC ~ 3H,
Kp: ~—-3HO0O0O0OOO 55.9(2) 000

2a(C) — 2 = (Kp2 + C) - C)pz = ((3H — 3H) - 3H)p2 = 0
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O000Op,(C)=10000000000000000000O 0

e 00O p2480 250,000 p2500 252. OO 5513000 5.5.14
000000000000000
[oOoooo)
00 5.5.13a. SOO00O0O00000DO SO0000V c HY(S, Og(D)) D
00 C-0000000000

VI={D' e|D||3fev-{0}0000 D' =D +div(f)}

0000dimeV 2200 Bs|V|= ﬂ SuppDO0O0O0OO0OOODOOOOOOOO
De|V|

0000V|0D00000 ) ¢ (C;0 $0000)00000 ¢;0 Bs[v|OoO
=1

0000000000 i#,;000 ¢;NC; CBs|V|OOODOO0 Bs|V|=¢0O0O

00|V|0000000000000000000000000000000

0O0.|v|000000000000 mX —»P(V)=|V|000000r =dimeV
O0O0a=(a;:---:a,) €P(V)0O00D0®p:S---—P(VY)ODOO P(VY)OOO
00 Ha:a1 Xy ++a,X, =0000000 Da=93H, eV 0000

7 Ha) =Dy xacC X CSxP(V)

0000000XO #000000000000000000000f; =95(X,/X,)
ooo vooo A,..., 000000000000 U0U0O00 DNnuOOOOOd
00 ¢g0000ygf; 0 v000O000O000O00 X;=0000000000000

DDDDDDDh:E:MﬂyzommﬂDUXMVWDDDDD;ﬂﬂUxmvw)

i=1

oooo
000000000000X0000 P=(x,a)(xeS,acP(V)000000
dh(P)=00000dh(P)=0000 (g9f1)(x) = (9f2)(x) =---=(g9f)(x) =00

D0000xeBs|V|0DDO0O00D00Sng(X)c (Bs|V|xP(V))NX 0000
00 51.12000000mX —»P(V)0O0O0O00000 Sing(X)0OOOO
0000000000000000 0

00 5.5.14a. SOOOO0O0O0O0O000ADOOOOOOOOO SO0OO0O0O0OOO0O
(1) 000000020 P,QeSO0O0O0P,QOOOOOOOO COOCO
0000000 DelA 000000
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(2) PeSOOOOODOOO#teTsp 00 0000O0OO0DOPOOOOOO
00 CO teTcp000000O0O0COOOOODOOO DelAlDDOOO

0000000000 «C-~=$0000000000 Top — TspO
000 Tep CcTsp 00000

00. ®4(5)0 0000000000008 CP?=P(Lg(A)V)00000
000 (n=hS, Og(4))—1>2)Pr0000000000 (PH)VODODO0O0O0O
423700000000zeS0000

B, ={H¢e (P")|Ts. C H} C (P")"

0000dimB, £n—-300000002€eH¢B, 000 HNSO 00000
god

()PrOO0O0 PRQO LOODOOOOLCSOODOC=L000CO0O0
0000 SO0000 PODOOOOOOOOOLNS={P,..,P}>P, QO
oooog

V ={feHS,,05(4)) | f(P)=f(Q) =0}
0000dimeV=(n+1)-2=n-1000000,

VI=P(V)={He ((P")|PcHOO Qe H}
O0000O0Bs|V|=LNnS={P,.,P}0000000000(V|=P(V)ODO
00000000 UD0000 DeUO Bs|V|0OODODODODODOOOODDO
0000000dimU =dimV -1=n-200Bp, U---UBp. 0 n—-30000
000000000 D00000000000000000000000 pOOOO
000

(2)0 POOOOOOOOODO t000000000 LOOOOO@) 000
00O00o00o0oon O

00 p251, 000 p252. 00 5.5.15(2)0 400
. |Lx(D)|000000 2000000000
. |D|0000O00 2000000000

O O

00 p251, 000 p252. 00 55150000 800

O d
oS
:‘* E
S
I e
o
SEES
° %
S

00 p251, 000 p252. 00O 5.5.150000 900
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0:0 POOOOODDDD t £ty €Txp
0:0 PODO0 1000000000 t, to € Tx.p

e 00O p2520 253,000 p254 0 255. 00 5516000 5.5.17

000000000000000

[oooooo)

00 5.5.16a. SO00000000DO SO0000 D>00000000
0000000000

() 0000 PeSwpDhDOODOPOOD (00D0000O0O0DO0)00000
0CpCcSOO000 m(P)00O0OD0D000 (a),(b),(c)00000000

(a) (D-Cp)s = 0.

(b) 000 m=me(P)0D000 HYCp, O, (mD)) # 0.

(c) 000 m=me(P)0DOD0O0O

Y HY(S, Og5(mD)) — H°(Cp, Oc, (mD))

ooooooo
000000000 n0000000000 m2n0000 BsimD|=¢0000O

(2) S0000000000 COO00 (D-C)s>0000000000000
00 me=me(C)00000000000 m=me0000

Y H(S, Og(mD)) — H°(C, Oc(mD))

ooooo0oooooooDooooopOOOoOoDbDOboOoDo

00. 00000000 X000O0O00O0 X>FR>K>---0000000
00000000000000000000000000000000000 ng€eN
00000 Fy=Fnp=---00000

(1) @ = Ppupps S =@n(S)00007p:Chp —Cp0 CpOOODODOD
0351700000 (D-Cp)s>00000m =29(Cp)+1000 map D O
C,000000000000000000Bs|matD|=¢0000(D-Cp)s=0
D0000m229(Cp)+1000 mrpDle, ~00000Bs|mapD|=¢ 0000
0000000000 4.242a3) 000P ¢ BsjmD| 0000

Bs|mD| > Bs|(m+1)D| >---00 (| Bs|mD|=¢ 00000000 neNO
m=1

00000000 mz2n0000 BsmD|=¢ 0000
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(2) (D-C)s>00000m>0000000000000000000000
dim H°(C, O¢(mD)) 2 m(D - C)s +1—g(C) >0

ooooooooooo(n)yooo9,:S—S,0000000000000000
00 mUO0O0O0O0ODO mDOOOOOOOOOOO Bs|D|=¢00000 meN
ooo ¢, 000000000000O000

()00 meNOOOOD @, 000000000000

000 20 P#QeSO000P,QUOD0OD00 CcCSO0008,, =®,p|,
bm = Oppjo:C — P(Lo(mD)Y) 0000000 4242200 ¢ = Pple 000
000¢, 00000000000 me(P,Q)eNODOODOOm = my(P, Q)0
000¢m(P) # ¢n(Q) 00 &,,(P)#9,(Q)0 00000000

Fo={(P,Q) €S xS|®,(P)=2,(Q)}

0SxS00000000m>n0000000000 ®pp:iSm—S, 0000
0 ®,=%®,,0%,000000F,CF,0000A¢O SxSOO0O0O000O

)

(P,P)000D00000000)000000000000()F,=As0000
n=1

0000 noeNOOOOOOF,, =As000000000000 P#£QeSO

00 &,,(P)#®,,(Q)00000000m=n 0000mDOO0D0D0000 (1)

goooo

() Pe SO 1000000000 t,t,€Tsp 0000

Q = ®,(P) € Sy, mp, mo O Ogsp, O, o 0000000000000
05,:05,.0 — Osp 00000 ppmimg/my) — mp/myk 00000000
000

¢m(C) C ®,,(S) C P" = P(Lg(mD)¥) 0000000 ny(P) eNOOODDO
m>n(P)000 ¢, 00000000000¢,(C)000000000 QOOD
P(Lg(mD)¥) 0000 HOOODOOOOOHD 0 QUODDOO0O00 ®,(ts)
D000000000m2m(P)000000000 ppuimg/m — mp/m O
0000000000000

Un={PeS|0000000000 ppm:mg/m} — mp/mp 000}

O000pp,, 000000000 DODODO0OOO0ODO0OOOO0OOOmMZ2n1(P)
ocoov,O Soooooooooooooob0d n>mob0 UL,DOU0, OO0
00000000 n,eNOOOODOOODOO m2n, 0000 U,,=800000
O000Omzn, 0000OmDOOOOOOD (2)00000
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O00O000Omzmax{ny, ne} 000 OmDOOOO0O0OOOOOOOO 0

00 5.5.16b. SO00000000DO SO0000OBs|D|=¢00
N =dim¢ Lg(D)>20000
(1) (DY)s#£000000000 ¢p:8—P¥-1000 SO0 &p(S)I000
ooo
(2) (D¥)s=00000®,(5)0000000

00.T=9,(5)000000 4223¢c0007000 PY-100000000
00000 PVM-'00007T0 1000000

() TOOOOOOOOO0OOOOH, 0 PY-'0000000000000
0422300 HNT O0OOODODOOOO0OOO0OO00O0OHNH NT = ¢ 0
000D000000D, = ®4H, Dy = ®,H' 000000D ~ Dy ~ Dy, 00O
Supp Dy NSupp Dy = ¢ OO0 00000 O(D%)g=(D,-Dy)s=000000000
(D*)s£000000000000070000000

(2) TOOOOOOOOOOOOH, /0 PN~ 000000000000
HNH'NT#¢0000D, =®5H, Dy =®,H 000000(D;-Dy)s>00
0000000(D%)s=0000000 0

00 5.5.17. (00000000) SOODODOODUOODODODAD SOOOOOO
O0SO000000 DOO0OOOOOO me(D)eNOOOOOmMm=2meoono
oobob »nO0000O

H(S, Os(mA+ D)) =0, H*S, Os(mA+ D)) =0
000000000A000000000
O00. Stepl. d(m, k) = dimc H*(S, Og(mA+kC)) 0000m>0,i=>100

0 Hi(S, 0s(mA+kC))=0000000000000000000000m>>0
000000000000

d(m, k) = dimc H°(S, Og(mA + kC)) = x(O5(mA + kC))
1
= 5((mA+EC) - (mA +kC = Kg)) s + x(Os)
S0000000000 CO0000 (A-C)s>00000000m>0000
lmA| #¢000000000000000O0O0DO0O00DO0OO0OOOOOOO

0— Os(mA—-C) — Og(mA) — Oc(mA) — 0
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000000m>0000 HYC, Oc(mA—C)) =000000 0¢,,: H(S,
Og(mA)) — H(C, Oc(mA)0000000000000000000 5.5.16a(2)
000DAOO0ODOOOOOOO

Step2. SOODDODODOOOOD COOOO (A-C)s>00000000000
0000000000000000
0 < dime HY(C, Oc(mA +kC)) =m(A-C)s +k(CHs +1—-g(C) (%)
O000kADOO0O m—+40000000(A-C)g=000000
O00(A-C)s=000000000000k>00000 k<00D000 (x)
0D0000000(C?)s=000000000()00,g(C)<10000
O00g(C)=100000m=3000 mAlc ~000000000A%C,
Oc(mA)=10000000000
0000g(C)=00000000Step2000000C=P' 000000000
O0000A|c~000000000000000 mOO000 HYC, Oc(mA)) =C
00Bs|mAlc|=¢0000
(Ks-C)s = ((Ks +C)-C)s = deg(Ks + O)|c = deg Ko = 29(C) —2 = —2
O00O0(A4-C)g=0, (C*s=0000000
m*(A%)s —m(A - Ks)s
2
000000000000 D000000 m>»00000 dim,k)200000
(A%)s200000000000
(Ag=000000000k<000 d(m, k)20000 (A-Kg)s <000

O0m>0,i=21000 HYS, Os(mA+ Kg))=00000
0 < dime H(S, O5(mA + Kg)) = x(0Os(mA + Kg))

d(m, k) = +k+ x(0g)

_ %((mA + Ks) - (mA+ K — Ks)) g+ x(Os)

= %m(A -Ks)s +x(0s)

000000000(A-Ks)s 20000000000
00000(A%)s>000000000m — 400000 d(m, k) — 4000000
m>0000 |mA|#£¢0000
m > 00000, H(S, Og(mA)) — HO(C, Oc(mA) 2CO000000
00 5.5.16a(1) D0OBs|mA|=¢ 000000000000 mO00000000
00 ®ai:S — P(Le(mA)) 000 SO00 T =@, (S) 00 0 ®ppa 00
00 700000000 ¢:§—T000000 5516b0007 0000000
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HO(C, Oc(mA)) =COO00000000 4.242a(1) 00 ¢(C) = ®ppp(C) O
1DDDDDP:¢J(C)DDDOT)pDDDDDDDD mpO0O00O00O00O0Og OO
00 cOo00000000 9000000 541000000000000C =P,
degClc = (C*Hs=d0000

mp/mp = ¢.(Ic/I2)(P) = (Ic/I2) (¢~ (P)) = H(C, I /I%)
90/9% = Oc(—C) = Opi (—d)

0000000d=00000mp/m%2¥CO00000000 POOOO TOO
000000 200000000000000000(A-C)s>00000000

Step3. m>0000 |mA|#¢000000000

Step 100000000000m>0000 t,: H(S, Og(mA)) — HY(C,
Oc(mA) DDD0D0O0O0()0 k=0000000000(A-C)s >000
O00m — oo 000 dime HY(C, O¢(mA)) — co 0000000 Odime HY(S,
Og(mA)) — oo 0D OO MAl #0000 0

e OO p2540 255,000 p256 0 257. 00 5518000

00 55180000000000000000000

[ooooo)

00.00000000000000000000000000

(D?)s>00000000000000000000m>>0000 L(mD) #0
000 L(Ks—mD)#00000000Vm>00000 L(Ks—mD)#000
000D €|Ks—mD|000000(2)0000000000 COO00m>>0
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